TAAVSOZTEHER

Variable Displacement Piston Pump TA4VSO

#% i® Overview

FrEms—MARXHEOEETER, TAFXEBREERIZITH,

KB, BEEAE35MPa,

This product is an axial piston pump in swash plate design for hydrostatic
drives in open circuit operation. With through-shaft construction, its rated

pressure is up to 35MPa.

R

XERMMEBELRFROKFENHE, ATENRE
BRATHTHEN T RIAT;
XIBHLEH, AIRBAER;

X (LB 2 R B T2 4144,

XIREE R, HEBSETMEANGE;
XEEANEERERSS;

MERETE;

MR NIERE;

MENE TAEE /1 FTi%35MPa;

S 1 M) Bz B 18) 2 5

MARMRAS ;

XRKEMD;

XERMIE/BEELL;

AR

IR AR AR ZH A R EE L E;
HREMEFIE;

W AHFRMETE, BIZTSHBMERK,

Features

* The capacity of the pump is in proportion to its rotating speed
and displacement; the stepless adjustment of the
displacement can be materialized by regulating the swivel
angle of its swash plate.

2% With through-shaft structure, able to form combination
pump;

#* Position constraint return mechanism;

*¢Spherical flow distribution, the piston is inclined around the
shaft;

¢ Equipped with swivel angle indicator of swash plate;

2 Stepless variable displacement;

J¢Excellent suction performance;

*¢Rated working pressure of 35MPa;

»<Fast control response;

¢ Low noise;

2 Long lifespan;

S¢Excellent power/weight ratio

$¢Modular design;

¢ The drive shaft is able to bear the axial and radial load;

2% Optional installation position;

21t can operate with HF fluid to lower the operating parameter.




B S 518 Type Code
T E A4VS O 125 DR /

1-T{E4 & Operating Medium

##1ih Mineral oil ( 74X S No Code )
HFA. HFB. HFCi#/Eiif Hydraulic fluid E

2-2E# B Machinery Type
| HEtEzE, $4, AIETE Axial piston, swash plate design, variable A4V

3-#%i% Speed
38 1% Normol speed s
S %51% High Speed

4-1z1T1#E % Operational Mode
| F=XEE Open circuit | o |

5-#1&Size
| /MERHEE Nominal displacement mLr |40 | 71 |125|180|200|250|280|355| |

6-#= #4144 Control devices

&A1=l Pressure control DR oo |0 0|00 |0]|e DR
== Hl Flow control FR oe|lo|o0o 0o (0|0 0|0 FR
E AR 2 H Pressure and flow control DFR oo (o 0o 0o 0 0|0 DFR
18I Z 4= %] Power control with hyperbolic curve LR2 o lo|o (0o 0|0 0|0 LR2
1B I [E F135 4] Constant power remote pressure control LR2G o lo|eo |0 0|0 |00 LR2G
1EIhZR[E /1#= %) Constant power pressure control LR2D o|(o|o0o| 00000 LR2D
FZhiz# Manual control MA e(o|o(o|0o o000 MA
& E R =25 Hydraulic flow control oOlo|e|e|e|e|e|e E02
7-%7%l Series
e | ® | —|—|—-|—-|-|- 10
-|-|e|e|eo|eo 0@ 30
8-TEE | ( MHi%ZE ) Rotating Direction ( View on Shaft End )
Ji £+ Clockwise R
¥ Bt$t Counterclockwise
9-Z%f Seals
THEHEINBR, s R Shaft seal FKM
FARBFKM
10-44{# Shaft End
L424RH Keyed shaft DIN6885
Tk g5 {8 Splined shaft DIN5480 z

E| &% A Chart shows: @=TTU{t£5 Available, O=7E£# & HIn preparation, —=7cNot available



11— % ~Mounting Flange

ISO 47LHole | 8 |
12,13-if1 0 8¢5 Ports Type
g3 O Suction port S, EAil O Pressure port B, #BhilO Auxiliary port Bi 13
im0 Suction port S, EAiliH Pressure port B, o5
# —JEAil 0 The second pressure port By
14 —i@4HIKZh Through Drive
40 | 71 [125]180|200(250|300(355
i@ %R 0 Without through drive oo (0|0 |0o|0|0| @] NOO
%ﬁﬁﬂiﬂlﬁb. M}EJ‘&ERTJ"!IH'E . elel -l -|-|-|=-1]= K
With through drive, mounting dimensions are as follows
ﬁnﬁfjggtﬁi]dg#ﬁ\f T;r)r?ojrﬁ[llr?; dimensions are as follows A A A A A B
E= TegEH M AIEESZ MR
Flange Splined shaft To mount pump
ISO125, 47l | W32x2x30x14x9g A4VS040 eo|o|o |0 0 0|0 0| 31
ISO140, 47 | W40x2x30x18x9g A4VSO71 - e(eo o|0o 0|0 | 33
ISO160, 47 | W50x2x30x24x9g A4VSO125 - |-|e|e|oe |0 |e @] 34
ISO160, 47L | W50x2x30x24x9g A4VS0180/200 -|-|e®e|le®e|e|e®|e® 34
1ISO224, 47L | W60x2x30x28x9g A4VS0250/280 -|=-f{-1-1—-]1®|@®|@® 35
1ISO224, 47L | W70x3x30x22x9g A4VS0355 -l ={=1=-|=-|-1-1® 77
ISO80, 27l 3/4in11T16/32DP S#f A10VS018 e|®@|O|O|O|O|O|O]| B2
ISO100, 2fL | 7/8in13T16/32DP S#f A10VS0O28 oo (o 0|0 0|0 o B3
ISO100, 2FL | 1in15T16/32DP SiH A10VS045 o (o (oo |00 o o0 B4
ISO125, 27L | 11/4in14T12/24DP Stf A10VS071/31 - |eoe|leoe|loe|o|e| 0 @ B5
ISO125, 2FL | 11/2in17T12/24DP Sk A10VS0100/31 -|-|e|le®e|e®e|e®e |0 @ B6
ISO180, 4FL | 13/4in13T8/16DP Sih A10VSO140 -|-[-|®|®|®|®|® B7
ISO160, 47L | 11/4in14T12/24DP Sk# A10VSO071/32 —-|lofololo]Jo]o|oO B8
ISO180, 47L | 11/2in17T12/24DP Sk# A10VS0O100/32 -|—-folo]J]o]JOo]O|O B9
SAE82, 27l | 3/4in11T16/32DP Skh A10VSO18 e|le|O|(O0|JOo|lO|O|O| 52
SAE101, 27l | 7/8in13T16/32DP St A10VO28 e|o|o |0 | 0 0 0|0 68
SAE101, 2%L | 1in15T16/32DP Si# A10VO45 o (o (oo | 0|0 00 04
SAE127, 27l | 11/4in14T12/24DP S## A10VOT71 -|e|eo|(eoe|o 0| @@ 07
SAE127, 27l | 11/2in17T12/24DP S## A10V0100 —-|-|®e|e®e| e e 0|@®]| 24
SAE152, 47 | 1 3/4in13T8/16DP Sk# A10VO140 -|-|-|e|e®|e® | @@ 17
1 Zh R S HBEELLhIE Bty
W%ﬁ—?guﬁ]g??ﬁﬁ’srﬁff %v?ﬁh-gdt ciazfgrlﬂlosed with blind flange. Rl I R I I I B I

FARBESREK, BUBEHERER—F, MAHBAR, BENEZARMANER,

MRITMASR; AERNESHE-ERNES+E_ERNES,
Two pumps can be connectec in series by their heac and end, namely integrated to be a combination pump by the means
of through-shaft, and the second pump of the series combination is called the subordinate pump.

In case of placing an order, the combination pump model equals to the model of the first pump + the model of the second.
HEREISRA llustrat on of combination pump model: T-A4VSO125DR/30R-PPB13U34 + T-A4VS0O125DR/30R-PPB13N00




RS H Technical Data

1. I{EEA15EERange of operating pressure—i# A Side of inlet
NOSHES (3t ES ) Pressure at suction port S ( absolute pressure )

BRARIETID, v v et 0.8bar
BRIEIETIP, | covvrerrre e 30bar

smax

AT EBEHEEERRE, BRADSBABR—IMREES, XN REEOENBR FHEEERNEESHS:

#OENAFBRSHENENSIEEENHRNHETE,
Inlet pressure is static input pressure or minimum dynamic value of boost pressure.

2. I{EEA3EE Range of operating pressure——H O Side of outlet
BORYE S (4833 /E71) Pressure at port B (absolute pressure)

TEES D, e 350 bar
WEEABE T I, oo vvres e 400 bar
EEE{EEjjp'mn ............................................................................ 15 bar

3. i zh A EFlowing Direction
S—B

4. F{Att i E /1 Case Drain Pressure
RARIFEEMHEN(BTES ) BURTFROEE, LE:

The allowed maximum case drain pressure (absolute
pressure) depends on the rotating speed of the pump.
Please see the figure.

BARFEREN(EITES ):
The maximum case drain pressure (absolute pressure):
PLmax 4 bar

XEIEEE, ERETRTREZR/N.
This is approximate value. This value needs to be decreased
under some operating conditions.



5. S#% (3EiB{E ) The Parameter List (theoretical values)

M Size 40 71 125 | 180 | 200 | 250 | 280 | 355
#EEDisplacement Vgmax | mL/r | 40 71 125 | 180 | 200 | 250 | 280 | 355
V= Vg maxif nomax | T/min | 2600 | 2200 | 1800 | 1800 | 1800 | 1500 | 1500 | 1500
RA#HE" Max. Speed
Vi< Vo maxkif ¥min | 3200 | 2700 | 2200 | 2100 | 2100 | 1800 | 1800 | 1700
R Quomac | Lmin | 104 156 | 225 | 324 | 360 | 375 | 420 | 533
E Flow
n = 1500 r/minf Umin | 60 107 | 186 | 270 | 420 | 375 | 504 | 533
HZE Power N=Nomaxft Pomax | KW 61 91 131 | 189 | 210 219 | 245 | 311
£p= 350 bar n = 1500 r/min B KW 35 62 | 109 | 158 | 245 | 219 | 204 | 311
145 Torque Ap=350barBt | Tme | Nm | 223 305 | 696 | 1002 | 1114 | 1391 | 1560 | 1976
Vo= Vomax A p=100 bar ft T Nm 64 113 | 199 | 286 | 318 398 | 445 | 564
?ﬁ’ﬁ#gﬁtﬁﬁiﬁm at J | kgm? | 0.0049 | 0.0121 | 0.03 | 0.055 | 0.055 | 0.0959 |0.0959 | 0.19
FE R ZEFVolume of case L 2 25 5 4 4 10 10 8
E= 8 Weight kg 39 53 88 | 102 | 102 184 | 184 | 207
= N . = KEHE S
TR b5 M I e N 600 800 | 1000 | 1400 | 1400 | 1800 | 1800 | 2000
Permissibleload of BEXZAN
. Iz i =l
the drive shaft e e N 1000 | 1200 | 1600 | 2000 | 2000 | 2000 | 2000 | 2200

1) Vo= Vomax B FIEELE F T MR O SHEE OE S ALEITE N1 barBtHE5R, Hidt OEptEmsiHEE im0,
TFEFRATIEAN, Vo= Vomat BIEL{E A FEHERBR

1) Once Vg=Vgmax, the value is applicable forthe conditionin which inlet pressure at Suction Port S equalsto 1 bar, the
absolute pressure; when the inlet pressure ps increases or the displacement decreases, the rotating speed will
increase; once Vg < Vgmax, the value amounts to the limit of the rotating speed.

& 94 % Bearing flushing

I FAAVSOREFETER, £ FITRBM
AR AR ER P TIEMEE hEE,
—XABENITEHRE (ETHm) , BTH
BIRAEBEREFREENTIERETEE;
— LU XAT YR TIEERRBEEMEEXIGE
TERFAEREREMNERHE L),

YEFE(E AL, DUETRRBTHAMIE R
B HIER

HWARME, BYdREELETERAEZRMO
“U” 317, Mtk R, FRRGE

it i e — 2 A it D HE o

XFI0RFNEER, HFAUOBTHABIER,

UBO AR R ET L AU /R K (TEIR).

Flushing is carried out via port "U" located in the front

bearing and leaves the pump together with the case

drain flow.

Regarding series 30 when using external bearing

flushing the throttle screw at port U mustbe turnedin
to the end stop.

AR B T 5 ) B AR B D (L/min):
Depending on pump size, the following flushing
flows are recommended:

#ig Size | 40 | 71 | 125 |180/200({250/280| 355

For the axial piston variable pump A4VSO at the
following operating conditions bearing flushing is
required for a safe, continuons operation.

——Applications with special fluids (non mineral
oils)due to limited lubricity and narrow operating

temperature range. mEFlow | 3| 4| 5 7 10 15
.—Opera_tlon a.t critical _cond|t|0n§ of tempergture ar.1d T AT, 1E UGS O [
viscosity with mineral oil and vertical mounting ( drive 4RI Obar.

shaft facing upwards).
Flushingis recommended in order to ensure lubrication
of the front bearing and shaft seal.

These recommended flushing flows will cause a pressure
drop of approx. 2bar (series 10) and 3 bar (series 30 )
between the entrance to port U and the pump case




%514 #h £ Characteristic curves
HINIhZ 57 & Drive power and flow



SMERST #4k40, 1025 ( EhREIBERHNAIEDES )

Dimension Size 40, Series 10 ( Example: pressure control )

M O132! Ports type 13

B E /il 0O pressure port

B1 Bt O auxiliary port

#0252 Ports type 25

B JE 138 A pressure port

B1 % ZJ£ A1t O second pressure port
HAthil O Other ports

S %38 O suction port

Ki,Ka  iigeit O flushing port

T jttti81 O drain port

Mg, Ms illix 2 measuring port

R(L) 3E#mA filing port + HES M bleed port
u iEiE A flushing port

135

_ 147

45° 45°

SAE3/4” (FIEZ7%! high pressure series)
M22 x 1.5 i®Rdepth14 (¥ plugged )

SAE3/4” (FIEZ%3%!I high pressure series)
SAE3/4” (FEZ% high pressure series) (¥ closed )

SAE11/2” (#r#EFR % standard series)
M22 x 1.5 iRdepth14 ( #plugged)
M22 x 1.5 iR depth14 ( #plugged)
M14 x 1.5 i depth12 ( #plugged )
M22x 1.5

M14 x 1.5 iR depth12 ( #5 plugged )




SMERST #4871, 1025 ( EhREIRERNAIEDES )

Dimension Size 71, Series 10 ( Example: pressure control )

295

M O132! Ports type 13

B E /il 0O pressure port

B1 Bt O auxiliary port

;W EA258! Ports type 25

B FEAih 0 pressure port

B+ % — £ 77381 0 second pressure port
EAthil O Other ports

S %38 O suction port

Ki,Ka  iigeit O flushing port

T jttti81 O drain port

Mg,Ms iz & measuring port

R(L) 3E#mA filing port + HES M bleed port
U il O flushing port

152

SAE1” (FEZ% high pressure series)
M27 x 2 iRdepth16 (¥ plugged)

SAE1” (BEZ% high pressure series)

SAE1” (BEZ% high pressure series) (3fH] closed)

SAE2” (fr#Z% standard series)
M27 x 2 #Rdepth16 ( ¥&plugged)
M27 x 2 & depth16 ( #plugged )
M14 x 1.5 i depth12 ( #plugged )
M27 x 2

M14 x 1.5 iR depth12 ( #5 plugged )



SMERST #5125, 30%35 ( ERRHIRERINAREDIEH )

Dimension Size 125, Series 30 ( Example: pressure control )

186

¥y BETEHSEhE]
* SR TR

Xt
ot | ormm
WSO x 2 x 30 x 24 x 9g Wl i —
DIM 5480 | EERO)
L ) | - -5 .
—— | w| S \ SAE 2 V¥R h &3
@ ol 3 -
[ M o LA M2 F17
e V =1
o = 5 —— 4B lamm— e
n o IP il ﬂ- 4
ke oy [ [ ~B(B: X258, EREWR)
\u LLJ SAET 14 mERS
N, i et
133 L4 * \ERAREIR 318
. 203 ¥ R
. 55

i A133 Ports type 13

B FE 773l 0 pressure port

B+ Bt O auxiliary port

#0258 Ports type 25

B FE il O pressure port

B1 % Z £ /13t A second pressure port
HAthi O Other ports

S g it A suction port

Ki, Kz iisid O flushing port

T ittt A drain port

Me,Ms & s measuring port

R(L) sEMO filling port + HESX O bleed port
U] ik O flushing port

Mi,M2  ZEEHHAIAIR 2 measuring port control device

SAE1 1/4” (&IE%3%! high pressure series)
M33 x 2 iRdepth18 (¥ plugged)

SAE11/4” (FEZ3%! high pressure series)
SAE1 1/4” (FIE%%!] high pressure series) (3] closed )

SAE2 1/2” (¥r#E &I standard series)
M33 x 2 iRdepth18 ( #plugged )
M33x 2 iR depth18 ( #Eplugged )
M14 x 1.5 & depth12 ( #plugged )
M33 x 2

M14 x 1.5 & depth12 ( #& plugged )
M14 x 1.5 ( #& plugged )




SMEERST #14%180/200, 30F&5! ( EfhRHIREHIIAREDIEH )

Dimension Size 180/200, Series 30 ( Example: pressure control )

2
l]l.m -
AS14 =« 9= 80
DiM 6885
158 80

181

=

[

(e =
=]

121

Y

* ESWEENR

E
W5Q = 2 x 30 = 24 x 9g
DIN 5480,

_." B
Sl 3T et ) !

WETH 5% En et

-5
; SAE Tk A RE
| B4 M6 24

i A133 Ports type 13

B FE 773l 0 pressure port

B+ Bt O auxiliary port

#0258 Ports type 25

B FE il O pressure port

B1 % Z £ /13t A second pressure port
HAthi O Other ports

S g it A suction port

Ki, Kz iisid O flushing port

T ittt A drain port

Me,Ms & s measuring port

R(L) sEMO filling port + HESX O bleed port
U] ik O flushing port

Mi,M2  ZEEHHAIAIR 2 measuring port control device

- BIB:A268), MTREAR
SAE1 M L RF

i § 44 201
SRR

SAE1 1/4” (&IE%3%! high pressure series)
M33 x 2 iRdepth18 (¥ plugged)

SAE11/4” (FEZ3%! high pressure series)
SAE1 1/4” (FIE%%!] high pressure series) (3] closed )

SAE3” (fr#E&RFI standard series)
M33 x 2 iRdepth18 ( #plugged )
M33x 2 iR depth18 ( #Eplugged )
M14 x 1.5 & depth12 ( #plugged )
M33 x 2

M14 x 1.5 & depth12 ( #& plugged )
M14 x 1.5 ( #& plugged )



SMEERST #14%250/280, 30F5! ( EfRHIREHIPIAREDIEH )

Dimension Size 250/280, Series 30 ( Example: pressure control )

T
30 _
2o
= AS1E%11=100
=~ DN 6BES 1
< '.I 100
15 D
& i -1
1= P | i
| e
3
— ]
L
-0 1
wll 180
105 {1
« 1156
¥ M 448 5
AREETECH N
* i X
i g 8

RS M An I / oshmEiERRED)

CiM 5480 / ;
ot i (=i 7
— / . | SAE 3 TRl A 55
I'. 3 I
A | E :\é . M16; #24
[l g \ 5 -
& ) 1.9
P Jrﬁz’* - | E— 214 ]
- [ i ﬂ
< | a2 [ i
2 \ L 70 ! 3
l 80 1 | _ BIB:X25% , MEERH
i oy SAE] 112 B &)
4’J"=
1 i ] e
k gt 5 -

+ NESEEER

¥
i A133 Ports type 13
B JE 7180 pressure port SAE1 1/2” (FIE%7%! high pressure series)
Br  Bhil O auxiliary port M42x 2 Rdepth20 (% plugged )
#0258 Ports type 25
B £ 1 pressure port SAE11/2” (BIEZ7%I high pressure series)
Bi % ZJE /138 0 second pressure port SAE1 1/2” (BIE#7 high pressure series) (¥ closed )
HAthi O Other ports
S M. i#1 1 suction port SAE3” (fr#E %7l standard series)
Ki, Ko iisid O flushing port M42 x 2 iRdepth20 ( #plugged )
T jttt3d1 O drain port M42 x 2 R depth20 ( #plugged )
Me,Ms llix 2= measuring port M14 x 1.5 & depth12 ( #plugged )
R(L) sEMO filling port + HESX O bleed port M42 x 2
u Migkim A flushing port M14 x 1.5 & depth12 ( #& plugged )

Mi,M2  ZEHHIFIMIK & measuring port control device M18 x 1.5 ( ¥ plugged )




SMERST #5355, 30R35 ( ERRHIRERNAREDEH )

Dimension Size 355, Series 30 ( Example: pressure control )

™ L
AS20%12 % 100 |
DIN 6385

238
233

1
nai 1100

) o,
.E -y I'_ L
= )

153

115 i 464

Wb £ 26T
Y ASEEENR

+ Xt
I o

I g T
W70 % 2 % 30 x 22 % 9g m_m_m_ / /I2eRmRIMEERD)

DIN 5480 cat:an 3 : o
I". T ¥ | U\—) T, 5
: - _ ol SAE S FEALEE 351
) -8 (L M16: %21
75| S a1
b A o )
s
4 | ST b amszsw, mEEEs
s SAET Z'BHERH
B2 . N, b ane -
1 40 N RN o
248 17 17 * 05
¥
#0132 Ports type 13
B JE il 0 pressure port SAE11/2” (BIEZ %I high pressure series)
B HHBhi O auxiliary port M42 x 2 Rdepth20 (¥ plugged )
i A25%! Ports type 25
B £ 1 pressure port SAE1 1/2” (BIE%7I high pressure series)
Bi % ZJE /138 0 second pressure port SAE1 1/2” (BIE#7 high pressure series) (¥ closed )
HAthi O Other ports
S W%i# O suction port SAE4” (kR #3 standard series)
Ki,Kz  iisit H flushing port M42 x 2 Rdepth20 ( #plugged )
T jttt3d1 O drain port M42 x 2 R depth20 ( #plugged )
Me,Ms ik = measuring port M14 x 1.5 & depth12 ( #plugged )
R(L) sEMO filling port + HESX O bleed port M42 x 2
u Migkim A flushing port M18 x 1.5 i depth12 ( #& plugged )
Mi,M2 ZTEHHFINLK & measuring port control device M18 x 1.5 ( #& plugged )



$2 4% E Control Devices

. ESH#E4IDR Pressure Control DR

EHEHRFRMAEEHAEEMEER, Hik, RREHITIMEAERRE,

& ESEE20~350bar, FiE: HIZEFEEIIEHIDRG

Pressure control keeps the pressure constant within the control range of the pump at the
pump outlet. There fore, the pump only delivers as much fluid as required by the actuators.
Setting range 20 ~ 350bar.

Optional: with remote pressure control DRG

DR JRIEESchematic DRG [HIEESchematic

A Ports
X%EEAHMO, ATFIZFEE 4 Pilot pressure port, for remote pressure control M 14 x 1.5 12

2. REFEHIFR Flow Control FR
’}'EE"]IALE_IULL T R T #Hiﬁﬁl L %’IE
ik HIZEENEEIFRG,
FR1&FRG1E XXl O MK TR L #E i,
Pump flow may be requlated by means of a differential pressure at an orifice and maintains a constant
regulating flow in a hydraulic system.
Optional: with remote pressure control FRG
For model FR1 or FRG1 the orifice closed in the X port

TEBEERERERN FRAZUZ T FL AT A TE%E@#J "EN FRG1EIR T L4 £ A

Ki K2 T R(L)
FR JRIEE Schematic FRG RIE[E Schematic

@O Ports
EEAHiMO, BATFiREEE Pilot pressure port, for flow control M14x1.5 %12
Xe %£ZREHMO, BTFIZRES#EE Pilot pressure port, for remote pressure control M 14 x 1.5 iF

Eldh T Diagram components

1. OS-A4VSOH I ER (5 EHEE T T H4)Axial piston pump (with hydraulic positioning device)
2. [E /1= #11# Pressure control valve

3.7 E#=#1® Flow controly valve




#5243 8 Control Devices

3. EA 5 EEHIDFR Pressure and Flow Control DFR
ERARTEUHNIRT, RERBHOREERE, EAEFRETRESIEH
DFR1ERHXit O A 895 LA £ A

This control maintains a constant flow from the pump even under varying oprerating
conditions. Overriding this control is a mechanically adjustable pressure control.
Optional: For model DFR1 the orifice closed in the X port

FEFEEREEER DFR1ZY T FLA £

DFR J&E & Schematic

#O Ports
X £&EAHO, AFiREEFIPilot pressure port, for flow control M14 x 1.5%12

yt{E Diagram components

1. OS-A4VSORIEIFER ( HRIEHZEETIHNA ) Axial piston pump (with hydraulic positioning device )
2. [EH4=4Ii® Pressure control valve

3. im=I=Hi® Flow control valve

4, ThE$EEHILR2 Pressure Control LR2

WHI R IhRIZH], BEERNFERTH, RIFERNEINIERAREHNLEE,
AliE: wEAEFILR2D, WHIEEENEHILR2G

The hyperbolic power control maintains a constant preset drive power at the

same input speed.
Optional: with pressure control LR2D, with remote pressure control LR2G

5. LhZE$EHILR3 Pressure Control Lr3

W LRI RITH], BEERNEEATH, REFERNENDEIFRTHIZEE,
HIp Ry & m R T

Alik: WENEHLR3D, HIZREHIEFILRIG

The hyperbolic power control maintains a constant preset drive power at the
same input speed. The power characteristics can be adjusted remotely.
Optional: with pressure control LR3D, with remote pressure control LR3G

ot



#5243 2 Control Devices

LR2 [HIEESchematic

ME Ports

LR3 [HIEESchematic

Ry #2415 SMER[El il O External control oil return port M18x1.5, i®12

XwrFESEAMAO, ATFiZiEThZiEH Pilot pressure port, for rem ote power control

fiTi Diagram components

M14x1.5 & 12

1.0S-A4VSOZY i [a) 4 2 R (# i EHEE AT 149) Axial piston pump (with hydraulic positioning device)

2. I Z 2% Power control valve

--D 5 E 13241 With Pressure Control

EAERREFIEES, B EEEENEZ THRHZRINE
EH TIE, HEBENIESIELAZEENR, Rt NENE
FEX, NRBEFZENRENRERK.

The pressure control overrides the power control, i.e. below
the set pressure control level the unlt follwes the power
control function. As soon as the pump output pressure
reaches the pressure control level, the pump turns into the
pressure control model and delivers only the amount of fluid
as requlred to maintain this pressure.

LR2D J5EE Schematic

MO Ports

-G HIZFR[E S132 4] With Remote Pressure Control

EARGIEZEREZRMOX, AFIZRE, SEENEEEN
(ENRGIE EMIEEEAMENZEH R LWEE ) B, R
NEDEFEX, NRBEFZENRENRERE.

Pressure rellef valve is connected to port Xo, for remote
control. As soon asthe pump output pressure(relief valve
setting plus pressure differential overthe pressure control
valve spool) reaches the pressure control level, the pump
turns into the pressure control model and delivers only the
amount of fluid as required to maintain this pressure.

LR2G JHIEE Schematic

Xo &S EAMAO, FAFIZFEESIEH Pilot pressure port, for remot e pressure control M14 x 1.5, 12

B riT4F Diagram components

1.0S-A4VSOZH EHFER (R EHFE I T H14) Axial piston pum p (with hydraulic positioning device)

2. ThER$z %l #® Power control valve
3. E f1#= %8 Pressure control valve

4. EARREIE ( FEFBAERKTEEZ R ) Pressure reliefl valve (noti in scope of supply)




434S Control Devices

6. KIEREZFIEO2
EB FHRERARRBRRLLAIRE, HTHENTEKET,

RIEE ] SRk PRMSUTRRLS: [ . | \
§ i [
G TELG .
™ . 3
oo il =4 WV omae
Ry [t $Eet ’i
+* . SRR '—|
e B L & ; _’J
- >
L BN U
'|—r' L4 | 1.1 5

re ] o

+ 1 & T T oWk m
U 5 MsM;RsRsR; K; K: T R{L) R4R3R; M;

B # T Diagram components

1.A4VSOB A [ IFER 1.A4VSO type axial piston pump
(FEHLAHEE A T H14)

2.LE i i 2.Proportional valve

CRUA=N 224 3. Position sensor

43diER 4.Transition board

7. EB#13E%IEM Motor Control EM

FRHBTHIEN T RAT . HrRRENIFES, GBTRNENRCAXFMBAFHITHENTRAT,
Stepless adjustment of displacement via an electric motor. Various intermediate displacement values can be selected
with a programmed sequence control, by means of built on limit switches and an optional potentiometer for feedback signal.

3 | 2 v
q
] r"“‘:"ﬂ:l — ., I@ "

v

|m

EM JEIEESchematic 5

st Diagram components

1. OS-A4VSOH[EIHFZESR ( HHHHIEETHI4 ) Axial piston pu imp (with mechanical positioning device)
2. E#l Motor

3. BRGLFF 3 Limit switch

4. {88 Potentiometer



i#%H3E % Through Drive

OS-A4VSOZVi A ZE R AMR B MIR D), FHRHHEMIES RN E2~-3TT “BISHRIR” o
BNEFBRHRESATEE=5 (ERSMEH=E) .

0OS-A4VSO axial piston pump can be equipped with a through drive, as shown in the type code on page 2-3

We recommend that no more than three pumps be coupled together(main pump and following pump a total of three).

RIFEBNEEE 5@ MK BN EE4E Permissible input torque and through drive torque ( 24 Unit: Nm )

% Size | 40 | 71 | 125 |180/200|250/280| 355

1L 4h{H Splined Shaft

ERMEABMNESE Maximum input torque of the main pump Twotmax | 446 | 790 | 1392 | 2004 | 2782 | 3952

Toimax | 223 | 395 | 696 | 1002 | 1391 | 1976

B 40 3 B o )
AR RIFRYEHMIEENEESE Permissible through drive torque 1o {223 395 | 696 | 1002 1391 | 1976

Taree | 223 | 395 | 696 | 1002 | 1391 | 1976

BRI A iFRYEHHIREhEE4E Permissible through drive torque

Toomax | 223 | 395 | 696 | 1002 | 1391 | 1976

E4h{H Keyed shaft

FRMEABMNESE Maximum input torque of the main pump Twotmax | 380 | 700 | 1392 | 1400 | 2300 | 3557

Totmax | 223 | 395 | 696 | 1002 | 1391 | 1976

AR, R iFRYI IXZ Permissible through drive torque
B ST HERIR R AR 9 q To2max | 157 | 305 | 696 | 398 | 909 | 1581

Toimax [ 157 | 305 | 696 | 398 | 909 | 1581

BRI 721 B IR S Permissible through drive torque
SO LRI g < Toemax | 223 | 395 | 696 | 1002 | 1391 | 1976

46 B e 3k Torque Distribution Pattern

4Bt FZ=XA Distribution pattern A 4yBt #2=XB Distribution pattern B
Trot Trot
To1 Ta2 To1 Tae

FRZLIEFH= FRYIF A 4E Permissible mass moment of inertia referred to the mounting flange of the main pump

#1& Size | 40 71 125 |180/200|250/280| 355

Tm 1800 | 2000 4200 9300
Tm1og 180 200 420 930
m 39 53 88 102 184 207

1 120 140 170 180 210 220

Tm—FFZ%ENm Tm—Perm. mass moment of inertia (Nm)

Tmiog—10g/N3E E BFAYIF FAZS 4ENm Tmiog—Perm. mass moment at dynam acceleration of 10g (Nm)
mi-ERFEKg mi-The quality of the main pump (kg)

m2- IR iEkg mz-The quality of the following pump (kg)

h-FEREOSRIEEZREEEMM li-The distance between barycenter of main pump and mounting flange (mm)
- NRE LS ERLEFE=ZHEER MM l-The distance between barycenter of following pump and mounting flange of

1 1 main pump (mm)
Z4ET=m1 x |1 xT02 + m2 x |2 xT02 < Tm




1B 4H3E % Through Drive

ZH& &R R~ Combination Pump Dimensions

MR A0S-A4VSOEE R ~F (mm)
Dimensions of following pumps OS-A4VSO

MNEFAHO0S-A10VSOE! K OS-A10VOEIH R ~F (mm)
Dimensions of following pumps OS-A10VOand OS-A10VSO

Mjimp 40 | 71 | 125 |180/200250/280| 355

40 554 | 582 | 635 | 659 | 719 | 748

71 - | 611 | 664 | 688 | 748 | 777

g A 125 - - | 724 | 748 | 808 | 837

ME 180 = = - | 768 | 828 | 857

o 250 | - | - | - | - | 904 | 933

3 385 | - | - | - | - | - |62

<180 | 288 | 316 | 369 | 393 | 453 | 482

A om0 | - = = - | 469 | 498

Mjimp 40 | 71 | 125 |180/200|250/280| 355

18 | 458 | 486 | 564 | 588 | 648 | 677

28 | 496 | 497 | 575 | 599 | 659 | 688

g 45 | 514 | 540 | 593 | 617 | 677 | 706

M % A7 - | 580 | 628 | 652 | 712 | 741

ﬁ% 100 | - - | 698 | 722 | 782 | 801

3 140 | - = - | 744 | 791 | 820

Az 288 | 316 | 369 | 393 | 453 | 482
FROS- A4VSO 1805 MFROS- A10VSO 1408 0S- A10V0 14088k, R~TA2

1406,

The dimension A2 is 406 for that OS-A4VS0O180 pump couples

OS-A10VSO 140 or OS-A10V0 140 pump



=% Mounting
& — & E 3k General requirements

REMEMIE, ERISITH, RELRERRE, FETEMRERR,

ATHAOES, FEREEEE (EhE. EARENEEHHE ) ERAFRELHShERS

WU R TE M EE LR AR, imm A EREERmAE, MBRSEASED,.

The mounting position is discretionary. Before trial running, the pump body must be filled with fluid and kept filled
while working.

To reduce noise, all connecting pipes (inlet pipe, pressure pipe and casting drain pipe) must be separated from
the tank by using flexible components. Avoid mounting check valve on the casting drain pipe. The leaked oil shall
return directly to the tank, butthe through-flow section shall not be reduced.

®EF L% (Himm L ) Vertical mounting (with shaft end upward)
EEERIEN, EFWANMENRATR, UBRATHARER,

In case of vertical mounting, we recommend flushing bearings as mentioned above to ensure the lubrication of
the front bearings.

L L7 W FE M Mounting inside the tank

a) HMENRRAASRNE=ESaHESH, (RLY O, (T)
a#n {S) OrFr(LE),

When the minimum level inthe tankis as same as orlarger than the

height of the flange face of the pump, port R/L, T and S can be open
(see Figure 1)

b) IiHMAENSREERFRIE=ZE, (RL)Y A, (T) OMKATEE
BE (S) ONFAEEERE, ME2FT, KERSET (REER
FEo0 ) HhETIRRYHERE .

When the minimum level in the tankis lower than the flange face of

the pump, port R/L, T and possible port S must be connected with 1
pipes, as shown in Figure 2.This situation is same as what is
specified in Mounting outside of the Tank in this section.

LIE7EHFE SPMounting outside the tank

RN, FKFENEFERRR, (T) O@EdmAE, (RL) O,

ERERRER: B (RL)Y DiEm, B (T) BR, ABEE

(RLY O#E%E (LE2) .

Before mounting, the pump shall be placed horizontally and filled —lLEJt_ _‘rl
with fluid. Port Tis connected with the tank and port R/L shall be (
blocked. Filling while mounting: Filling from port R/L and venting by | f RIL)
port T and then blocking port R/L 5 6 i
£ ROBEEOEN (BANEH) , LHAETF0.8 bar fXE PsB00 | - ﬁ:h——"
Ho MRERIESETAEEHREFRE L. — 1 - -f% ——
Conditions: The minimum inlet pressure ( absorption pressure ) of the '

pump shall not be lower than 0.8 bar, the absolute pressure. If low

noise runningis required, the pump shall notbe placed on the tank. 2




¢ Ep & Horizontally placed

BATY, (K1), (K2) H(RLY OBEFERME, ATEHESIATSMBEERE,
Place port T, K1, K2 or R/L higher than the highest position for filling /venting and for connecting with drain pipe.

AL TE M FE M Mounting inside the tank

a) HMANREAESREY LRESNES, timOa (S) O
Fh ( RE3) o

When the minimum level in the tankis as same as or higher than
the upper end of the drain port and port S can be open (see Figure
3)

b) MmN SR AL R Lo R, ttim O MR ATEEEHE (S)
AxmAEEERE (REY) . WERWMEERT (LEEMMBINE )
HRa) Wit

When the minimum level in the tank is lower than the upper end of
the pump, the drain port and possible port S must be connected
with pipes. ( See Figure 4 ) .This situation is same as what is
specified in a) Mounting outside of the Tank in this section.
TERIEITHIR il iR R R

Before trial running, the pump body must be filled with fluid

Z23E7EHFE 5 Mounting outside the tank

ERIBEITH AR ERRE

Before trial running, the pump body must be filled with fluid.

a) M=EEMFEZ L, FREL,

For mounting on the tank, see Figure 4.

% ENREEOESD (RANES) , BAREFO0.8barkdtE
To MRERKEBEFISITN MBI EERETHEZ £,
Conditions: The minimum inlet pressure (absorption pressure) of
the pump shall not be lower than 0.8 bar, the absolute pressure. If
low noise running is required, the pump shall not be placed on the
tank.

b) INZEAEMMAZT, (RL) M (S) OAEEER, MESH
o

For mounting under the tank, port R/L and S must be connected
with pipes, as shown in Figure 5.

B —e® 1o

T

| M———

r
i

Ea

hna= 800

hemn=200




